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Alphabet Series  
 

Directions (1-3): The following questions are based on the five three letter words given below.  

 

ALL HOW MAD NEW ANY  

 

1. If the positions of the first and third letters of all the words are interchanged, how many words will form 

meaningful English words? 

A) None  

B) One 

C) Two 

D) Three 

E) Four 

 

2. If all the letters in each of the words are arranged alphabetically (within the word from left to right), how 

many words will remain unchanged?  

A) One 

B) Two 

C) Three 
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D) Four 

E) None 

 

3. If the first letter of all the words is changed to its next letter of the English alphabetical series, then how 

many words will have more than one vowel?  

A) One 

B) Two 

C) Three 

D) Four 

E) Five 

 

Directions (4-6): Answer these questions referring to the letter sequence given below: 

 

P S C R U V B L H V W D G Y F X Y B M O D M Q A M 

 

4. If the letters of the above given series are written in reverse order, which letter will be the fourth to the left 

of eleventh letter from the right end? 

A) F 

B) G 

C) H 

D) L 

E) None of These 

 

5. What will come in place of question mark (?) in the following series? 

 

SRC    VLB    VDW    ? 

 

A) YFX 

B) YXF 

C) FYX 

D) FXY 

E) None of These 

 

6. Which of the following is seventh to the right of the seventeenth letter from the left end? 

A) A 

B) B 

C) C 

D) D 

E) E 
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Directions (7-8): The following questions are based upon the alphabetical series given below-  

 

B S M Q U A M H J S D K R E N Z R S I K O 

 

7. What will come in place of question mark (?) in the following series? 

BM AH DR ? 

A) SZ 

B) DK 

C) ZX 

D) ZS 

E) None of These 

 

8. Which of the following is the seventh to the right of the third letter from the left end? 

A) J 

B) S 

C) D  

D) K 

E) None of These 

 

Directions (9-10): Answer these questions referring to the letter sequence given below: 

 

L H W U D I Y X A N P S D Q T W C 

 

9. How many letters are there between first and second last letter (from left to right) of the above series 

according to alphabetical order?  

A) 8 

B) 9 

C) 10 

D) 11 

E) 12 

 

10. Which of the following is the sixth letter to the left of the 11th letter from left end? 

A) A 

B) B 

C) C 

D) E 

E) D 
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Directions (11-15): Study the following questions and answering the questions referring to the word sequence 

given below: 

 

NEXT  ACID  BACK  COME  DARK 

 

11. If words are arranged according to the alphabetical series from right to left, then which word is third from 

the left end? 

A) ACID 

B) BACK 

C) COME 

D) NEXT 

E) DARK 

 

12. If each letter is arranged according to the alphabetical series within each word (from left to right), then 

which is the fourth letter of the word, which is second from the left end? 

A) A 

B) D 

C) C 

D) I 

E) None of These 

 

13. If each vowel in the word is changed to its previous letter and each consonant change to the next letter 

according to the alphabetical series, then how many words contain vowel? 

A) One 

B) Two 

C) Three 

D) Four 

E) None of These 

 

14. If each consonant in the word is changed to its next letter according to the alphabetical series, then how 

many meaningful words can be formed? 

A) One 

B) Two 

C) Three 

D) Four 

E) None of These 

 

15. If 2nd and 4th letter of each word are interchanged, then how many meaningful words can be formed? 

A) One 

B) Two 
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C) Three 

D) More Than Three 

E) None 

 

Directions (16-18): Study the following information carefully and answer the questions given below: 

 

BOY  CAN  GYM  INK  KEY 

 

16. If each vowel is changed to the previous letter and each consonant is changed to the next letter, then how 

many meaningful words can be formed? 

A) None  

B) One 

C) Two 

D) Three 

E) Four 

 

17. How many letters are there as per English alphabetical order between the last letter of the second word 

and first letter of the third word from the left end when all the words are arranged alphabetically from left to 

right? 

A) Five 

B) Four 

C) Six 

D) Seven 

E) Eight 

 

18. If the first and third letters are interchanged, the second letter is changed to the next letter, then how many 

words contain at least two vowels? 

A) Two 

B) Three 

C) Four 

D) One 

E) None 

 

Directions (19-20): Study the following information carefully and answer the questions given below: 

 

CROWN  GRAND  HEART  NOVEL  SHIFT 

 

19. If each consonant is replaced by next letter and each vowel is replaced by its previous letter, then which of 

the following word is second from the left end when all the words are arranged in ascending order from left to 

right? 
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A) HEART 

B) NOVEL 

C) GRAND 

D) CROWN 

E) SHIFT 

 

20. If the first and fourth letters are interchanged, second and third letters are interchanged within the word 

and the fifth letter is replaced by its next letter, then how many letter appear twice within the word? 

A) None 

B) One 

C) Two 

D) Three 

E) Four 

 

Directions (21-23): Study the series of five 5-letter words given below and answer the questions below. 

 

THINK  INPUT  DRINK  ROBIN  HAPPY 

 

21. If first letter of each word from left is replaced by ‘E’, then how many meaningful words can be formed? 

A) None 

B) One 

C) Two 

D) Three 

E) None of These 

 

22. If all the letters of the words are rearranged in alphabetical order from left to right and thus newly formed 

words are arranged as they appear in the dictionary (from left to right), then which of the word is third from 

the left end? 

A) INPUT 

B) DRINK 

C) ROBIN 

D) THICK 

E) None of These 

 

23. If all the consonants are replaced by previous letter and all the vowels are replaced by next letter, then how 

many words are having two or more same letter? 

A) Two 

B) One 

C) Three 

D) More Than Three 
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E) None of These 

 

Directions (24-28): Study the following information carefully and answer the below questions: 

 

OLD  SHE  NAP  SAY  USE  TAN 

 

24. If all the 2nd letter of the words is changed to their next letter as in the alphabetical order then how many 

meaning full words are formed? 

A) None  

B) One 

C) Two 

D) Three 

E) More Than Three 

 

25. How many letters are there between 3rd and 3rdletter of the word which is from extreme left and extreme 

right end respectively after arranging all words in alphabetical order (from left to right)? 

A) 12 

B) 13 

C) 10 

D) 14 

E) 15 

 

26. All the letters of words are arranged in alphabetical order within the word from left to right end. What is 

the 1st letter of the 3rd word from right end? 

A) B 

B) C 

C) D 

D) E 

E) A 

 

27.If all the letters in the words are arranged in the reverse alphabetical order (from right to left within the 

word). After that all the words are arranged as in alphabetical order from left to right end, then which is the 

third letter of the first word from the right end?  

A) B 

B) C 

C) D 

D) A 

E) E 
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28. If all the vowels in the words are changed to next letter as in the alphabetical order and all the consonants 

are changed to previous letter as in alphabetical order. How many words contain at least one vowel after 

arrangement? 

A) Two 

B) One 

C) Three 

D) More Than Three 

E) None 

 

(Directions 29–32): The given questions are based on five, 4-letter words which are given below. Study the 

following information carefully and answer the questions given below it. 

 

BOMB  ROOF  SOUL  NICE  MANY 

 

29. If ‘C’ is added before each given word then, how many 5-letter meaningful word can be formed? 

A) One 

B) Three 

C) Four 

D) None 

E) Two 

 

30. If all the letters within given words are arranged in reverse alphabetical order (right to left) and thus newly 

formed words are rearranged as they appear in dictionary (from left to right) then, which of the following 

word appears third from the left end? 

A) BOMB 

B) SOUL 

C) ROOF 

D) NICE 

E) MANY 

 

31. If all the letters of the words are written together in an alphabetical order (from right to left) without any 

space then, how many letters are there in alphabetical series between sixth letter from left end and fifth letter 

from right end in the English alphabet series? 

A) 5 

B) 6 

C) 7 

D) 11 

E) 8 
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32. If all the Vowels are changed to previous letter while all the consonants are changed to next letter within 

same word then, in how many newly formed words having two or more same letter? 

A) One 

B) Two 

C) Three 

D) Four 

E) More Than Four 

 

Directions (33-35): Study the following information carefully and answer the questions given below: 

 

ACT  FED  DIP  HIM  GEM 

 

33. If each vowel is changed to previous letter and each consonant is changed to next letter, then all the words 

are arranged according to alphabetical order from left to right, then which of the following word is fourth 

from the left end? 

A) DIP 

B) HIM 

C) GEM 

D) ACT 

E) None of These 

 

34. How many letters are there as per English alphabetical order between second letter of third word and 

second letter of fourth word from the left end when all the words are arranged alphabetically from left end? 

A) None 

B) One 

C) Two 

D) Three 

E) Four 

 

35. If 2nd and 3rd letters are interchanged and first letter is changed to second next letter, then how many 

meaningful English words can be formed? 

A) One 

B) Two 

C) Three 

D) More Than Three 

E) None 
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(Directions 36-40): Study the following information carefully and answer the questions given below it. 

 

CFD  WVU  TSR  XYZ  KLM 

 

36. If first and second letters of all the words are interchanged within themselves then how many meaningful 

words can be formed? 

A) None 

B) One 

C) Two 

D) Three 

E) Four 

 

37.  If all the consonants of each word are changed to its previous letter then how many words will have only 

consonants? 

A) One 

B) Two 

C) Three 

D) More Than Three 

E) None of These 

 

38. If all the words are arranged in alphabetical order from right to left then which of the following will be 

second from the left end of the series? 

A) XYZ 

B) WVU 

C) TSR 

D) KLM 

E) CFD 

 

39. How many meaningful words can be formed with the first and last letter of each word separately (in same 

order)? 

A) One 

B) Two 

C) Three 

D) More Than Three 

E) None  

 

40. How many meaningful words can be formed by placing the vowels in the middle of the words (consider 

only the words having vowels)? 

A) One 

B) Two  
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C) None 

D) Three 

E) None of These 

 

Direction (41-44): These questions are based on five three-letter words given below. 

 

ABS  GOT  SIX  ONE  WAX 

 

41. If the first and second letters in each word are interchanged, then which of the following is the second word 

from the left end, if they are arranged as in the English dictionary (from left to right)? 

A) SIX 

B) ABS 

C) GOT 

D) ONE 

E) WAX 

 

42. If all the letters in each word are arranged in alphabetical order from left to right and then arrange the 

words as in the English dictionary from right to left. Which of the following will be exactly in the middle? 

A) SIX 

B) GOT 

C) ONE 

D) WAX 

E) ABS 

 

43. If all the vowels are changed to previous letter and all the consonants are changed to next letter as in the 

English alphabetical order. Then how many words does have repeated letter within the word? 

A) More Than Three 

B) Three 

C) Two 

D) One 

E) None 

 

44. Which of the following letters is the middle letter of the word which is third to the left of the word which is 

at the right end? 

A) G 

B) T 

C) A 

D) O 

E) S 
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Direction (45-48): Read the following information carefully and answer the questions given below. 

 

WEB  NET  YOU  TWO  RAT 

 

45. If all the vowels are changed to second next letter and all the consonants are changed to second previous 

letter as in the English alphabet series. Then in how many words a letter appears twice? 

A) None 

B) One 

C) Two  

D) Three 

E) Four 

 

46. If all the letters in each word are arranged as in the English alphabet series from right to left and then 

arrange the words as in the English dictionary from left to right. Then which of the following word is second 

from the right end? 

A) TWO 

B) WEB 

C) NET 

D) YOU 

E) RAT 

 

47. If first and the last letters in each word are interchanged and then arrange the words as in the English 

dictionary from left to right. Then which of the following letter will be third letter of the second word from the 

left end? 

A) O 

B) W 

C) T 

D) A 

E) None of These 

 

48. How many letters are there in between the middle letter of the second word from the right end and the first 

letter of the first word from the left end as in the English alphabet series? 

 

A) One 

B) Two 

C) Three 

D) None 

E) More Than Three 
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49. How many such pairs of letters are there in the word ‘REPRESENTATION’ as many letters between them 

as in the English alphabet series? (both forward and backward) 

A) One 

B) Two 

C) Three 

D) None 

E)  More Than Three 

 

50. How many such pairs of letters are there in the word ‘AUTOMATION’ as many letters between them as in 

the English alphabet series? (both forward and backward) 

 

A) One 

B) Two 

C) Three 

D) More Than Three 

E) None of These 

 

Detailed Explanation with Answers 
 

Answers (1-3): 

 

1) B 

2) C 

3) B 

 

Solutions (1-3): The series given in this question is: 

 

ALL  HOW  MAD  NEW  ANY 

 

1) In this question we have to change the positions of the first and third letters of all the words are interchanged and 

the new series will look like this: 

 

LLA  WOH  DAM  WEN  YNA 

 

As per the above new series the meaningful word formed is DAM. So, answer isONE 

Answer: B (ONE) 

 

2) In this question all the letters in each of the words are arranged alphabetically (within the word) and the new series 

will look like this: 
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ALL  HOW  ADM  ENW  ANY 

 

As per the new series which is formed there are three words which remained unchanged. So, answer is Three. 

Answer: C (Three) 

 

3) In this question, we have to change the first letter of the series with the next letter as per the English alphabetical 

series and the new series will look like this: 

 

BLL  IOW  NAD  OEW  BNY 

 

As per the newly formed series there are only two words which has more than one vowel and that word is: OEW and 

IOW 

So, answer is TWO 

Answer: B (Two) 

 

Answers (4-6): 

 

4) A 

5) B 

6) A 

 

Solutions (4-6): The series given in this question is: 

 

P S C R U V B L H V W D G Y F X Y B M O D M Q A M 

 

4) In this question we have to write the series in reverse order and the new series will look like this: 

 

M A Q M D O M B Y X F Y G D W V H L B V U R C S P 

 

As per the series, the eleventh letter from the right end is W and fourth letter to the left of this letter is F. 

So, answer is F 

Answer: A (F) 

 

5) In this question we have to find the pattern between the letters and the different pair as per given in the question 

and the pattern is: 

In the pair, third letter is between the first and the second letter as per the series and between the two adjacent pairs 

one letter is left and then next letter is written 

As per this pattern the next pair will be:YXF 

So, answer isYXF 
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Answer: B (YXF) 

 

6) In this question we have to find the letter which is seventh to the right of the seventeenth letter from the left end. 

As per the series given in the question, the letter which is seventeenth letter from the left end is Y and the seventh 

letter to the right of this letter is A 

SO, answer is A 

Answer: A (A) 

 

Answers (7-8): 

 

7) D 

8) B 

 

Solutions (7-8): The series given in this question is: 

 

B S M Q U A M H J S D K R E N Z R S I K O 

 

7) In this question, we have to find the pattern between the letters and the pairs as well as per the given series 

The pattern is there is a gap of one letter between the letters of the pair and there is a gap of two letters between the 

pairs and then the letter is written 

As per this pattern, the next pair will be: ZS 

So, answer is ZS 

Answer: D (ZS) 

 

8) In this question, we have to find the seventh to the right of the third letter from the left end 

As per the series given in the question, letter which is third from the left end is M and the letter which is seventh to 

the right of this letter is S 

So, answer is S 

Answer: B (S) 

 

Answers (9-10): 

 

9) C 

10) E 

 

Solutions (9-10): The series given in this question is: 

 

L H W U D I Y X A N P S D Q T W C 
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9) In this question we have to find the number of letters between first and second last letter of the above series as per 

English alphabetical series 

First letter of this series is L and the second last of this series is W and between them there are 10 letters 

So, answer is 10 

Answer: C (10) 

 

10) In this question, we have to find the sixth letter to the left of the 11th letter from left end 

As per the series the letter which is 11th from the left end is P and the sixth letter to the left of P is D 

So, answer is D 

Answer: E (D) 

 

Answers (11-15): 

 

11) C 

12) D 

13) C 

14) A 

15) E 

 

Solutions (11-15): The series given in this question is: 

 

NEXT  ACID  BACK  COME  DARK 

 

11) In this question we have to arrange according to the alphabetical series from right to left and the new series will 

look like this: 

 

NEXT  DARK  COME  BACK  ACID 

 

As per the new series the word which is third from the left end is COME 

So, answer is COME 

Answer: C (COME) 

 

12)  In this question, we have to arrange each letter alphabetically within each word, and the new series will look like 

this: 

 

ENTX  ACDI  ABCK  CEMO  ADKR 

 

As per the new series word which is second from the left end is ACDI and the fourth letter of this word is I 

So, answer is I 

Answer: D (I) 
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13) In this question, we have to change each vowel to its previous letter and each consonant change to the next letter 

according to the alphabetical series and the new series will look like this: 

 

ODYU  ZDHE  CZDL  DNND  EZSL 

 

As per the given new series, the words which contain vowel are: ODYU, ZDHE and EZSL 

So, answer is ODYU ,ZDHE and EZSL 

Answer: C (Three) 

 

14) In this question we have to change each consonant to next letter and the new series will look like this: 

 

OEYU  ADIE  CADL  DONE  EASL 

 

As per the new series there is only one word which is meaningful and framed and that word is DONE 

So, answer is DONE 

Answer: A (One) 

 

15) In this question, we have to interchange 2nd and 4th letter of the word and the new series will look like this: 

 

NTXE  ADIC  BKCA  CEMO  DKRA 

 

As per the given series there are no meaningful words formed after the operations 

So, answer is NONE 

Answer: E (None) 

 

Answers (16-18): 

 

16) A 

17) C 

18) D 

 

Solutions (16-18): The series given in this question is: 

 

BOY  CAN  GYM  INK  KEY 

 

16) In this question, we have to change each vowel is changed to the previous letter and each consonant is changed to 

the next letter and the new series will look like this: 

 

CNZ  DZO  HZN  HOL  LDZ 
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As per the new series, there are no meaningful words formed after the performing of the operations. 

So, answer is NONE 

Answer: A (None) 

 

17) In this question, we have to arrange the words alphabetically and the new series will look like this: 

 

BOY  CAN  GYM  INK  KEY 

 

As per the new series the word which is second from the left end is CAN and the last letter of this word is N and the 

first letter of the third word is G and the number of letters between N and G is six 

So, answer is SIX 

Answer: C (Six) 

 

18) In this question, we have to interchange first and the third letter and second word is changed to the next letter and 

the new series will look like this: 

 

YPB  NBC  MZG  KOI  YFK 

 

As per the new given series, there is only one word which has at least two vowels and that word is: KOI 

So, answer is KOI 

Answer: D (One) 

 

Answers (19-20): 

 

19) C 

20) B 

 

Solutions (19-20): The series given in this question is: 

 

CROWN  GRAND  HEART  NOVEL  SHIFT 

 

19) In this question we have to change each consonant to the next letter and each vowel is replaced by its previous 

letter and the new series will look like this: 

 

DSNXO  HSZOE  IDZSU  ONWDM  TIHGU 

 

As per the new series, the word which is second from the left end is HSZME and this word is obtained after 

performing operations on GRAND 

So, answer is GRAND 
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Answer: C (GRAND) 

 

20) In this question we have to interchange first and fourth letters and 2nd and 3rd letters are also interchanged and the 

fifth letter is also changed to the next letter and the new series will look like this: 

 

WORCO  NARGE  RAEHU  EVONM  FIHSU 

 

As per the new series, there is only one word which in which one letter is appeared twice and that word is WORCO 

So, answer is WORCO 

Answer: B (One) 

 

Answers (21-23): 

 

21) A 

22) B 

23) C 

 

Solutions (21-23): The series given in this question is: 

 

THINK  INPUT  DRINK  ROBIN  HAPPY 

 

21) In this question, we have to replace the first letter of the word with E, the new series will look like this: 

 

EHINK  ENPUT  ERINK  EOBIN  EAPPY 

 

As per the new series, there are no meaningful words which are formed after performing the operations 

So, answer is None 

Answer: A (None) 

 

22) In this question, we have to arrange all the letters are arranged in alphabetical order from left to right within the 

word and the new series will look like this: 

 

HIKNT  INPTU  DIKNR  BINOR  AHPPY 

 

Now, we have to arrange the new series in alphabetical order from left to right is: 

 

AHPPY  BINOR  DIKNR  HIKNT  INPTU 

 

As per the new series, word which is third from the left end is DIKNR and this word is formed after performing 

operations on DRINK 
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So, answer is DRINK 

Answer: B (DRINK) 

 

23) In this question, we have to replace all the consonants with the previous letters and all the vowels with the next 

letters and the new series will look like this: 

 

SGJMJ  JMOVS  CQJMJ  QPAJM  GBOOX 

 

As per the new series, there are three words in which there are two or more same letters are there and they are: 

SGJMJ, CQJMJ and GBOOX. 

So answer is SGJMJ, CQJMJ and GBOOX. 

Answer: C (Three) 

 

Answers (24-28): 

 

24) A 

25) C 

26) E 

27) D  

28) B 

 

Solutions (24-28): The series given in this question is: 

 

OLD  SHE  NAP  SAY  USE  TAN 

 

24) In this question, we have to change 2nd letter of each word with the next letter and the new series will look like 

this: 

 

OMD  SIE  NBP  SBY  UTE  TBN 

 

As per the new series there are no meaningful words are framed after performing the operations. 

So, answer is NONE 

Answer: A (None) 

 

25) In this question we have to arrange all the words in the alphabetical order and the new series will look like this: 

 

NAP  OLD  SAY  SHE  TAN  USE 
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As per the new series the word which is from the extreme left is NAPand third letter of this word isP and the word 

which is extreme right from this series isUSEand the 3rdletter of this word isE and the number of letters between P 

and E is 10 

So, answer is 10 

Answer: C (10) 

 

26) In this question we have to arrange all the letters in alphabetical order within the word and the new series will 

look like this: 

 

DLO  EHS  ANP  ASY  ESU  ANT 

 

As per the new series the word which is 3rd from the right end is ASY and the first word of this word is A 

So, answer is A 

Answer: E (A) 

 

27) In this question, firstly we have to arrange all the letters within the word in reverse alphabetical order and the new 

series will look like this: 

 

OLD  SHE  PNA  YSA  USE  TNA 

 

Now, we have to arrange this new series in alphabetical order from the left right and the new series will look like this: 

 

OLD  PNA  SHE  TNA  USE  YSA 

 

As per the new series word which is first from the right end and that word is YSA and the third letter of this word is 

A 

So, answer is A 

Answer: D (A) 

 

28) In this question, we have to change each vowel is changed to next letter and all the consonants is changed to 

previous letter as in alphabetical order and the new series will look like this: 

 

PKC  RGF  MBO  RBX  VRF  SBM 

 

As per the new series, there is only one word which has at least one vowel is MBO. 

So, answer is MBO 

Answer: B (One) 

 

Answers (29-32): 
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29) D 

30) C 

31) E 

32) E 

 

Solutions (29-32): The series given in this question is: 

 

BOMB  ROOF  SOUL  NICE  MANY 

 

29) In this we have to add C to every word and the new series will look like this: 

 

CBOMB  CROOF  CSOUL  CNICE  CMANY 

 

As per the given new series there are no 5-letter meaningful word which is framed 

So, answer is NONE 

Answer: D (None) 

 

30) In this question, we have to arrange all the letters in reverse alphabetical order within the word and the new series 

will look like this: 

 

OMBB  ROOF  USOL  NIEC  YNMA 

 

Now, we have to arrange the new series in the alphabetical order and the new series will be like this: 

 

NIEC  OMBB  ROOF  USOL  YNMA 

 

As per the new series, the word which is third from the left end is ROOF 

So, answer is ROOF 

Answer: C (ROOF) 

 

31) In this question we have to arrange all the letters of the words in the alphabetical order and the new series will 

look like this: 

 

ABBCEFILMMNNOOOORSUY 

 

Now as per the series the letter which is sixth from the left end is Fand the letter which is 5th from the right end is 

Oand the number of letters between F and O is 8 

So, answer is 8 

Answer: E (8) 
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32) In this question, we have to change every consonant to the next letter and each vowel to the previous letter and 

after this new series will look like this: 

 

CNNC  SNNG  TNTM  OHDD  NZOZ 

As per the new series the words which has the same letter areCNNC  SNNG  TNTM  OHDD  NZOZ 

So, answer isCNNC  SNNG  TNTM  OHDD  NZOZ 

 

Answer: E (all 5 words have 2 same letters) 

 

Answers (33-35): 

 

33) B 

34) A 

35) E 

 

Solutions (33-35): The series given in this question is: 

 

ACT  FED  DIP  HIM  GEM 

 

33) In this question we have to change each vowel to the previous letter and each consonant to the next letter and the 

new series will look like this: 

 

ZDU  GDE  EHQ  IHN  HDN 

 

As per the new series all the words are to be arranged in alphabetical order and the new series will look like this: 

 

EHQ  GDE  HDN  IHN  ZDU 

 

As per the new series the word which is fourth from the left end is IHN and this word is framed after performing 

operations on HIM. 

So, answer is IHN 

Answer: B (HIM) 

 

34) In this question we have to arrange all the words in alphabetical order and the new series will look like this: 

 

ACT  DIP  FED  GEM  HIM 

 

As per the new series third word is FED and the second letter of this word is E and the word which is fourth from the 

left end is GEM and the second letter of GEM is E and there are no letters between E and E 

So, answer is NONE 
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Answer: A (None) 

 

35) In this question we have to interchange the 2nd the 3rd letter of the words and first letter of the word is changed to 

second next letter and they are as follows: 

 

CTC  HDE  FPI  JMI  IME 

 

As per the new series there are no meaningful words framed 

So, answer is NONE 

Answer: E (None) 

 

Answers (36-40): 

 

36) A 

37) C 

38) B 

39) E 

40) C 

 

Solutions (36-40): The series given in this question is: 

 

CFD  WVU  TSR  XYZ  KLM 

 

36) In this question we have to interchange the first and second letters within each word and the new series will look 

like this after this operation: 

 

FCD  VWU  STR  YXZ  LKM  

 

As per the new series there are no meaningful words which are framed 

So, answer is None 

Answer: A (None) 

 

37) In this question we have to change all the consonants to the previous letter and the new series will look like this: 

 

BEC  VUU  SRQ  WXYJKL 

 

As per the new series, there are three words which will have only consonant and they are: SRQ, WXY and JKL 

So, answer is Three 

Answer: C (Three) 
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38) In this question we have to arrange all the words from right to left in the alphabetical order and the new series 

will look like this: 

 

XYZ  WVU  TSR  KLM  CFD 

 

The word which second from the left end of the series as per the new series is WVU 

So, answer is WVU 

Answer: B (WVU) 

 

39) In this question we have to take the first and the last letter of the words and they are as follows: 

 

CD→ No Meaningful word 

WU→ No Meaningful word 

TR→ No Meaningful word 

XZ→ No Meaningful word 

KM→ No Meaningful word 

 

As per the question there are no meaningful words can be formed from first and the last letter of the words 

So, answer is None 

Answer: E (None) 

 

40) In this question we have to take that word which has vowel and we have to put that vowel in the middle of the 

word and it will look like this: 

 

WUV 

 

As per the series there are no meaningful word is framed 

So, answer is None 

Answer: C (None) 

 

Answers (41-44): 

 

41) B 

42) C 

43) E 

44) D 

 

Solutions (41-44): The series given in this question is: 

 

ABS  GOT  SIX  ONE  WAX 
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41) In this question we have to interchange the first and the second letter of the word and the new series will look like 

this: 

 

BAS  OGT  ISX  NOE  AWX 

 

Now we have to arrange the new series in the alphabetical order and the final series will look like this: 

 

AWX  BAS  ISX  NOE  OGT 

 

As per the new series the word which is second from the left end is BAS and this word is framed after performing 

operations on ABS 

So, answer is BAS 

Answer: B (ABS) 

 

42) In this question we have to arrange all the letters within the words as per the alphabetical order and they will look 

like this: 

 

ABS  GOT  ISX  ENO  AWX 

 

Now, we have to arrange them in alphabetical order from right to left and they will look like this: 

 

ISX  GOT  ENO  AWX  ABS 

 

As per the new series word which is in the middle is ENO and we get this word after performing operations on ONE 

So, answer is ENO 

Answer: C (One) 

 

43) In this question we have to change all the vowels to the previous letter and all the consonants to the next letter 

and the new series will look like this: 

 

ZCT  HNU  THY  NOD  XZY 

 

As per the new series there are no words which have repeated letters 

So, answer is NONE 

Answer: E (NONE) 

 

44) Word which is third word from the right end of the word is GOT and the letter which is in the middle of the word 

is O 

So, answer is O 
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Answer: D (O) 

 

Answers (44-48): 

 

45) B 

46) A 

47) C  

48) D 

 

Solutions (45-48): The series given in this question is: 

 

WEB  NET  YOU  TWO  RAT 

 

45) In this question we have to change all the vowels to the second next letter and all the consonants are changed to 

second previous letter as in the English alphabet series and the new series will look like this: 

 

UGZ   LGR  WQW  RUQ  PCR 

 

As per the new series there is only word (WQW) words in which a letter (W) appears twice 

So, answer is One 

Answer: B (One) 

 

46) In this question we have to arrange all the letters within the word as per the alphabetical order and the new series 

will look like this: 

 

WEB  TNE  YUO WTO  TRA 

Now, we have to arrange this series in alphabetical order and they will look like this: 

 

TNE  TRA  WEB  WTO  YUO  

 

The word which is second from the right end is WTO and this word is framed after performing operations on TWO 

So, answer is TWO 

Answer: A (TWO) 

 

47) In this question firstly, we have to interchange first and last letter of the word and they are as follows: 

 

BEW  TEN  UOY OWT TAR 

 

Now, we have to arrange the above series in alphabetical order and they will look like this: 
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BEW OWT TAR TEN UOY 

 

The word which second from the left end is OWT and the third letter of this word is T 

So, answer is T 

Answer: C (T) 

 

48) Word which is first from the left end is WEB and the first letter of this word is W and the word which is second 

from the right end is TWO and the middle letter of this word is W 

So, there are no letters between W and W 

So, answer is None 

Answer: D (None) 

 

Solution 49) Word which is given in this question is: 

 

R  E  P  R  E  S  E  N  T  A  T  I  O  N  

 

In this question we have to find the number of pairs which has the same letter as per English alphabetical order as 

same as in this spelling are: RP, EN, PS, RN and ON 

So, answer is More Than Three 

Answer: E (More Than Three) 

 

Solution 50) Word which is given in this question is: 

 

A U T O M A T I   N 

 

In this question we have to find the number of pairs which has the same letter as per English alphabetical order as 

same as in this spelling are: UT and NO 

So, answer is TWO 

Answer: B (Two) 
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